B.A./Part-1/Gen/SANG-1/2016

WEST BENGAL STATE UNIVERSITY
B.A. General PART-1 Examinations, 2016

SANSKRIT-GENERAL

PAPER-SANG-I
Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks. Candidates should answer in their own words
and adhere 10 the word limit as practicable.

Unit-1
Marks - 10

1. (a) Define and illustrate any rAree from the following metres: 2x3=6
Asfeie - Baf g wwoss Twmad we:

(b) Scan and define any two from the following metres: : 2x2 =4

e @-@m 77 i« o i w=;
(i) verTsTiABEg 9o

(if) v A 9wl

(iii) TETEIGLRY Hafeaag

(iv) g FreRRgerrenfaaf:
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Unit-11
Marks - 10

2. (a) Decline any five from the following:

e @-@w 2 “was Qg T
(i) R in 59H] U@HaT |

(i) o1 in Tgell vaaE |

(iii) & in fe<in sgaa= |

(iv) 1 in fgian sgae |

(v) Ufdl in <R gdHaT |

(vi) 3F¥IS in JailaT fgaa |

(vii) T () in §fTa1 Tdae |
(viii) 9 in 9l fgagq |

(b) Conjugate any five from the following:

1106

eRe @-cm #i5f6 «rgms =

(1) \/7TF{ in ¢J< 3rd person plural.

(i1) V‘Lin °l¥ 2nd person singular.

(iii) V¥t in € 3rd person dual.

(iv) V&9 in < 3rd person singular.

(v) VUG in @I 2nd person plural.

(vi) Vg¥Tin << Ist person dual.

(vii) V& in faffers 1st person singular.
(viii) \/31?{ in féfe 3rd person singular.
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(d

Unit-J111
Marks — 40

) Discuss the dramatic significance of the ‘dream-sequence’  of
Svapnavasavadatta.

FHUIPRAEH FGLF TR A6 1 Slesid ias=) 2
OR/&<3t
Critically discuss Bhasa as a dramatist.

G AN SR TFertam w91
OR/®I94l

Justify the contribution of Yaugandharayana in Bhasa’s Svapnavasavadatta.
SR FHIPRWE N{OCS (QNFARCEN SRMIAS Ao F41

(b) Translate into Bengali or English any one from the following:

1106

flaRe @-@R ¢ e AR SRR BAEITe e 9
(i) PNl ¥ B TS IR gAFAREa

Qe aiRaar st gadd Rideaq |

MATUEAesdE Jaon sHifREa

I TG it aqg aq e 6 Sgamu
(i1) Fesaradl 9 fOxet 9 Fd=ai =

Fafqergfea 9 faday)

IRECEIEU GUIENE G|

HHTfAaraRTaw fawsgamEm

OR/S&%<1

Write short notes on any two from the following:

HIvadl, srafad, reir, vHoar |

3x2=6
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(c) Explain with reference to the context any one from the following:

FeeiRe @-@W @3l e Few i 9

(i) WES qEHHT a1 FESIGISIT |
AJaRIR@ER § Fed] wadii

(ii) TomET & fdemer gaeren 9 Hae
HAR: G A fRAATaRE g i

4. (a) Who was Sukanasa? How did he advise Chandrapida.— Discuss.

w3 (& fofd e sandfiers Teinm fraferee —witenal 34
OR /T3t

Elucidate- “arfifte< Srrq |49 |

“qrfife STq wdw- Rew i 1)

(b) Translate into Bengali or English any one from the following:

fafeie @-GR @3 SrmerE aRe wLE TG WM 34|
(i) sFdTrRaRTITHrIRRERguesta fAgsord |

SRIdTIATIAAfY geafy gewmIuee | ncwsTuRyg sarar

gfearaeemy |

(ii) w9 yvEfa caar | A goraf BomdE A

At A | AT | Aifareaf sfaresie |
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Unit-1V
Marks - 15

ount for the case-endings in any six from the following underlined

wOTds

i @-@F 220 Ave IRe-Refe A 3=

(i) e dfcen T4 |
(i) a¥R: gfd Ju: N |

(111) STty qes: G |
(1v) ST T |
(v) ¥4 9T e |

(vi) TS WS DT |

{(vi1) %Eaalﬁ RIE: gqafd |

(viii) fdares e |
e o T v a
(ix) BE FfRT: 9% |

(x) FU IR |
lustrate the uses of any two from the following:

(i) e Tgei |

(ii) FATFATH B |
(iii) forarfaereor fg<fia |
(iv) 919 F<HT |

1x6=6

2x2=4
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(©)

(d)

1106

Join m Sandhi any two from the following:
e e G- ,‘{_/‘1?3 e 34
we+aa:, [Oa-4Re, M+3er, Iq+IRIA |

Disiom in Sandhi any three from the following:

fxfete @-@W foaf e R 33:
(i) T

(ii) eida

(iii) HEBR:

(iv) BT

(v) SISt

(vi) faeroTd

Unit-V
Marks - 25

Translate the following passage into Sanskrit:

fesferfeie Sl e Sgam 4

Trees give shade for the benefit of others, while they themseclves bear
intense heat of the Sun. This is the nature of good.

aife. freal e 2iv@ O g FEE WA IR & QI Wi 3041 Here{(wR

2iFfog «aaw|

OR/=IAl

Kalidasa was a great poet. In his early days he did not know anything of
poetry and literature. But later his works are praised by the scholars all over

the world.

Fifewis waem w2 3R 711 e fof 3t fee; ey fFge wives 11 fag
1730 FIe O Fbe Fe WAl Rt Reestam @i ™ife 2

1x2=2
1x3=3
10
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4 Read the following passage and answer the questions given below in
Sanskrit.
e wents «itw awe aefe R Teg we:
ST SRR HUREY A XoT | 9 e Fdki Tg@: | e o

\m‘%&% ﬂ’\?ﬂa?ﬁ?mﬂ‘cfw RAHIEHIAST /YR, e ﬁﬂ%!% Gﬁ: N
P WEE T SERIRY 2

() 76w 9 fHaRi ?
(ii)mq%as:aseim:?amm:ﬁim’:ﬁw.?

(iii) 7T XGHE TR fF gy ?

(iv) e 53 fgafy ?

(V) TR g1 T gaeR e 2
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